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2015 £ 9 A
JE 5 AE
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 1.23 0.01 &
LA T 1.512 0.00 - 0.32 0.06 =
/b= (HCI) 4,545 0.02-0.61 0.13 s
#ALE (HF) 0.306 0.01-0.18 0.03 s
—A/EWT (SO2) 15.147 0.08 —9.03 2.69 =
—& bk (CO) 7.578 0.01-0.10 0.06 e
HAY) (NOx)
DLZ& b5 (NO2) 30.303 1.35-7.47 4.29 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 - 0.07 0.01 e
A e 0.756 0.02 - 0.09 0.06 =
/b= (HCI) 0.756 0.11-0.17 0.13 e
FALFE (HF) 0.072 0.03 - 0.04 0.03 s
— A bk (SO2) 3.789 2.49 —2.95 2.69 =
—& [l (CO) 3.789 0.04 - 0.07 0.06 &
HAY) (NOx)
PAZE EE (NO2) 15.147 3.17-5.91 4.27 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 <0.00017 =
o S SR 0.003789 <0.00004 =
B EEaEm 0.0378 <0.00444 &
IR R g ) 7.575 x 10°° 1.0 x 101 =
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JE& AF
S8 HERPRED RS EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEN - /N E(HFEIINENARERE)
fokr 2.277 0.00 - 0.67 0.01 &
LA T 1.512 0.00 - 0.16 0.02 =
b (HCI) 4545 0.01-1.26 0.16 s
#ALE (HF) 0.306 0.00-0.13 0.03 s
—A/EWT (SO2) 15.147 0.00 — 9.04 2.42 =
—& bk (CO) 7.578 0.00 — 0.09 0.03 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.44 —12.72 3.48 =
SR
(b) [FHEEH - HIME (HFSETRENARER)
fohr 0.756 0.00 — 0.31 0.03 e
A e 0.756 0.00 — 0.06 0.03 =
/b= (HCI) 0.756 0.11-0.27 0.16 e
FALFE (HF) 0.072 0.02 — 0.04 0.03 s
— A bk (SO2) 3.789 2.10 — 2.69 2.41 =
—& [l (CO) 3.789 0.01 - 0.05 0.03 &
HAY) (NOx)
PAZE EE (NO2) 15.147 1.76 — 5.64 3.48 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 <0.000079 =
o S SR 0.003789 <0.00001 =
B EEaEm 0.0378 <0.00170 &
IR R g ) 7.575 x 10°° A O A O
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2015 £ 9 A
JE & BF
S8 HERPRED =Y SEE =
(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH - /NP E(HFETREN AR ERE)
fokr 2.277 0.00 -0.72 0.15 &
LA T 1.512 0.01 -0.61 0.05 =
/b= (HCI) 4,545 0.01 -0.36 0.09 v
#ALE (HF) 0.306 0.00 -0.10 0.02 s
—A/EWT (SO2) 15.147 0.00 —4.02 1.72 =
—& bk (CO) 7.578 0.00 -0.07 0.01 i
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.58 -5.47 1.93 =
SR
(b) [FHEEH - HI9ME (BFHETRENAGER)
fohr 0.756 0.00 —0.45 0.14 i
A e 0.756 0.01-0.11 0.05 =
/b= (HCI) 0.756 0.06 -0.11 0.09 Vs
FALE (HF) 0.072 0.01-0.02 0.02 v
—A/bhi (SO2) 3.789 0.88 —2.32 1.74 =
—& [l (CO) 3.789 0.00 - 0.03 0.01 =
HAY) (NOx)
PAZE EE (NO2) 15.147 0.76 — 3.66 1.95 y=s
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 0.00023 =
o S SR 0.003789 <0.00004 =
B EEaEm 0.0378 <0.00293 &
BRI (V) £ 1:2.8x 101 =2
7.575x 10° B 20 4.5 x 1012 =
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